Mike has some Roman numbers on his mind. Help him fill the boxes with the correct symbols to
represent the given numbers. S,
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Priya and Ishita have travelled to Rome. They have to call their hotel but The Rome Hotel

they do not recognise the numbers. Help them read the phone number

on the visiting card. Call : VVVHIIXITIVIH '

riya and Ishita should dial the number

.~

Road Ahead

You will learn about:
¢ revising Roman numbers up to 100
¢ simple calculations involving Roman numbers.

-ands of years ago, Romans developed their own number system.

~umber system is called the Roman number system. We have learnt

-1t in the previous classes.

- class, we will revise Roman numbers up to 100 and do some simple
ations involving Roman numbers.

vstem 1s based on seven letters of the English alphabet.
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Revising Roman Numbers up to 100

T 1 AN Hindu—Arabic numbers N
I PEUL/ are widely used, the Roman
| g\ﬁ{\!\\\\ﬂ“‘ sl number system can be

: treated as a shorthand
translation of the Hindu-
Arabic numbers.
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There are some simple to be followed while writing Roman numbers,

Rule 1: When a symbol is used more than once, its value is added each time to get the num==

XX = 10+ 10

However, I, X, C and M can only be repeated thrice. V, L and D are never repeated.

Rule 2: Values are added if, a symbol or symbols are placed after the symbol of a greater vz
For example, in VI, 1 is written after V.

So, value of VI=5+1=6

LX=50+10=60

Rule 3: A symbol placed before the symbol of a greater value is
subtracted from it.

For example, in IV, 1 is written before V.
So, valueof IV=5-1=4
XL=50-10=40

Rule 4: A sign — over a symbol signifies multiplication
of its value by 1000.

For example, X = 10 x 1000 = 10000
V =35 x 1000 = 5000

XXLis hot50-20=30

as 30 is represented us=

C =100 x 1000 = 100000

e = el ,&HH

 ‘C’'in Roman number - -
| stands for centum, me=
\l ‘hundred!
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The Roman number system does
_hot use the concept of place value.
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. Write the corresponding Roman numpbers for the given Hindu-Arabic numbers.

[ - ST b. 99 =
|| ¢ 54 = _ d 8 = __
| &t 89 = __ f. 20 = -
| g 78 = ho13 = _
li 85 = i 46 = )
| k86 = i 47 =

m. 9 = n.' 25 = ——
blalse f=y oL =8 0 p. 11 =
| 488 = . 98 = _
} S @9 = ____ s 100 =

Example: Write the values of these Roman numbers in the Hindu-Arabic number system

a. CCCV b. LXXX ¢. MDCIX

d. DXI1v e. CDX f. MCXL

Solution:

a. CCCV =100+ 100+ 100+ 5 = 305 Qf T _

b. LXXX =50+ 10+ 10+ 10 = 80 B Maths Boss

¢. MDCIX = 1000 + 500 + 100 + 9 = 1609 * I canbe subtracted from \ -

d. DXIV =500+ 10+4=5]4 * Xcan be subtracted from | -
* Ccanbe subtracted from = -

e. CDX = (500 - 100) + 10 =400 + 10 = 410 VAL TS D ire never bt

f. MCXL = 1000 + 100 + (50 -10) = 1100 + 40 = 1140

1. Complete the sequence,

a. L II, 1IN, 1V, !
b. XXII XXIII, XXV, XXV,
¢. LIL LIIL, L1V, LV,
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d. XCI, XCII, XCIIL, XCIV,
e. LXVII, LXVIII, LXIX, LXX, it .

- Write the corresponding Hindu-Arabic numbers for these Roman numbers.
b.

o XXIII XXVI XXTX | XXXII LXIX | LXXIX LXXXIX| XCIX
|
| | |

LXV | Lx i‘ LV I d'L C ! D CM CD

L L |

3. Write the corresponding Roman numbers.

a. 1076 b. 1985 c. 228 d. 749
Write the corresponding Hindu-Arabic numbers.

a. MLXXX b. CDLVIII C. . CMLIL d. CMXXIV

e

Simple Calculations Involving Roman Numbers
e can carry out simple calculations involving Roman numerals.
Example: LXII + XIV

=62+ 14

Convert the Roman number into a
=76 Hindu-Arabic number and then carry
=LXXVI out the calculation.

P

Fill in the blanks with the correct Roman number.

a XXI+1v={ b. XCIm-{ | = LXXXVI
i N el
e’ |~ XL =11 . C+/ 1=DC




Milestones Achieved

The Roman number system is based on seven letters of the English alphabe
In the Roman number system, a symbol can only be repeated thrice.

There are a set of specified rules to be followed while writing Roman numbe=
doing calculations.

There is no symbol for zero in the Roman number system.
The concept of place value is not used in the Roman number system.
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143 CCcv

642 DCXLII

305 CXLII
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Arrange the numbers in ascending order.

a. XXXIX, XV, XLII, XXVI, LXI, XCI

b. LXXXIV, XCIV, XLVIIL, CXVII, LXXV, XV

- Arrange the numbers in descending order.

a. LXXVIIL, XCII, LXVII, XXXVIII, XVIII, XCIV

b. CXXIV, XV, LXV, CXIX, XCII, CCIX

Complete the sequence.

a. LXXVII, LXXVII, LXXIX, LXXX,

b. XCI, XCII, , XCIV, XCV,

. Complete the table.

DCCCLXIII

459

1000 + 500 + (100 - 30)

MMCXVI




Detective Maths ﬁ‘

Puzzle Pyramids

All bricks are numbered in such a way that the number on each brick is the sum of the numbers —
two bricks on which it stands. Find the numbers on the remaining bricks.

Choose the correct option.

1. Roman number for the greatest 2-digit number is
i. CXIX ii. XCIX i, IXCX
2. The number one less than the greatest 3-digit number is represented as

i.  CMXCVIlI i. CMCVII iii.  CMXCIX

3. 377= 1|

i. CCLXVII ii. CCDXVII iii.  CCCLXXvIl

4. Which of these is not a valid number?

i. CDXCvil i. CMXCIX i, 1CC




L

HOLY TRINITY INTERNATIONAL SCHOOL

Mathematics
Grade: V
Roman Numerals
Fill in the blanks

YR | IR | { ISR ARTR——— y T
b, XX+ V=0 .
c. There is no symbol for zero in the ......... system.
d. I can be subtracted from V and ..... :
e. V,LandD arenever .......
f. Romans used some rules to representa ..........
g. Cstands for ..........
h. Centum meaningis .......
i. The Roman number system does not use the concept of ......
j. The symbol of zero in Roman number system is ..........
k. X can be subtracted from L and ........

II.Choose the correct answer

1. What is the Roman letter for 73

a. LXXIII b. XIII ¢.XCV d.- XX
2. What is the Hindu Arabic number for CCCV
a. 305 b. 465 c.678 d. 234
- G can be subtracted from D and M only.
a C b. G c.V d. A
R =DC
a.D b.G c. A d.R

5. Asign overasymbol signifies multiplication of its value by ....

a. 1000 b.500 c.600 d.10000
6.The value of M is ....

a.1000 b.500 c.100 d.300
1.228=......

a.CCXXVIII b.CCXVII c.CCXXVI d.CXXVII
8.CDLIX=.....

a.459 b.453 c.549 d.594

9.Which of these is not a valid number?

a.CDXCVIII b.CMXCIX cICC d.CDXCIII



10.The number one less than the greatest 3-digit number is represented as.....

a.CMXCVIII b. CMXCIX c.CMCVII d.CMXCVII

111. Match the following

Column A Column B
143 CCCV
642 DCXLII
305 CXLII
256 CL
150 CCLVI
700 CD
800 DCCC
400 M
1000 DCC
IV. TRUE or FALSE

1.Romans developed their own number system ‘This system is called the Roman

number system.

2. Roman system is based on ten letters of the English alphabet.
3.M=1000

4. XL=50-10=40

5.30 is represented using LLL.

6.95=XCV

7.V.L and D are never subtracted.

8 XXXV+LXIV=XCIV

9.The concept of place value is used in the Roman number system.
10.There is no symbol for zero in the Roman number system.
V. Answer the following questions as directed.

1.Complete the following sequences

1. LXVII, LXVII, LXIX, ........ PR e i



XL XCW, XCI 50 s .
LILLIILLIV.LV,....seeuus....
XCLXCILXCULXCIV oy ouyosis
EXVAILLXVIILLXAX T XX, . ccmvanasvigssn
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2.Werite the corresponding Hindu Arabic numbers for these Roman numbers:

XXII ST
LX = cpussuss
CDLENVIL = ..ems
CM=...

RCIX=. . . .oedssigi
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3.Write the corresponding Roman numbers

mESTTTPER SO a0 T
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4.Arrange the numbers in ascending and descending order

XXXIX , XV, XLII, XXVI, XCIL

XXII, XXV, XXVII  XXVI  XXIX ,XXIII , XXX.
LXVILLXVILLXXIV,LXXVLLXXX LXXX
LXXVII , XCII, LXVII, XXXVIII, XVIII, XCIV .
XXIIT, XXXILXXIX , XXVI.

LXIX,LXXXIX, XCIX,LXXIX

c; EM; CB; D.

LX,LXV,L,LV.

BR Mo e oR

5.Fill in the blanks with the correct Roman number:



8. . XXV .o

b. XCH=.c0vsrnes =LXXXVI

f....—XL=II

6.Write the values of these Roman numbers in the Hindu Arabic number
system:

a. CCCV
b. LXXX
¢. MDCIX
d. DXIV
e. CDX

f. MCXL



